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Outcome 2 - Multiplying out Double Brackets

Bronze examples... Silver examples Gold examples

Examples.. Examples... Examples...

gy X =D+ iy (x—2)(x - 8)

Multiply (X- + 2) (.:\' + 7) everything
everything everything in second

insecond — x% 4+ 7x +2x + 14 in second xZ +7x —4x — 28 bracket x2 —8x —2x+16
bracket . bracket i by !
byxl = x*+9x+ 14 by x“+3x — 28 X2 —10x+ 16
Multiply
i everything
Multipl Multiply ) c_vcry‘i' g ’
ever‘y‘?‘lfi:g (x + 9)()( + 5) everything (){ + 3) ()C — 9) Ig:;:ﬁ:f ("1’—\' — 3)(—T - 7)
in second ’ in second ’ s X
©o= 4x“—28x—-3x +21

bl:.;l;e!‘f — xZ + 5x + 9x + 45 bl';;cifr XZ —9x + 3x— 27

x?% + 14x + 45 x% —6x —27 = 4x2—31x+ 21

Bronze Questions Silver Questions
« 19 « L
Expand the following double brackets.. ,é;/ Expand the following double brackets... 4
L GHDE+3) 2 (+Hx+5) L G-DE+8) 2 (x-3)(x+8)

(x+6)(x+1) & (x+7)(x+3) o @EFDx-1) & x+6)(x—4)

-

a (x+8)(x+8) & (x+3)(x+2) a x-Nx+7) & (x+5)(x-6)
Z G+HE+10) 8 (x+6)(x+9) Z @+Nx-12) 8 (x-8)(x+5)
8 x+8)(x+4) 13 x+7N(x+9) 8 x-9(x+6) 1Q x+3)(x-7)

Gold Questions

Expand the following double brackets...

= @

& G-Dx-4) & x-3Nx—-7
w G-OE-1) & @-9(x-3)
a 2x-49)x-5 & Bx-2)x-9

Z (x-8)(7x—10) B (x-5(4x-3)

8 Bx—2)(2x—6) IO (5x—6)(8x—9)
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Bronze Answers

VN OWe

x* +4x +3
x2+7x+6
x% + 16x + 64
x? + 14x + 40
x% 4+ 12x + 32

Silver Answers

WNOW -

x*+7x—8
x°+8x—-9
x? —49
x*—3x —108
x? —3x — 54

Gold Answers

VN O W

Multiplying out Double Brackets

x% —5x+4
x2—7x+6
2x% — 14x + 20

7x% — 66x + 80
6x% —22x + 12

B®ormwm

2
4.
6.
8

10.
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x% +9x + 20
x% +10x + 21
X2 4+5x+ 6

x% +15x + 54
x% 4 16x + 63

x% +5x — 24
x +2x — 24
x?—x-30

x* —3x — 40
x% —4x —21

x%—10x + 21
x% —12x + 27

3x% —=29x + 18

4x? —=23x + 15
40x* — 93x + 54
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